
Direct drive wheel mount Drink bottle holder
Fanatec/TSSH
shifter bracket

Simworx Supercar
shifter bracket

Logitech/Thrustmaster
shifter bracket

Sim seat brackets Chassis wheelsTriple monitor mountKeyboard and mouse tray PC shelf and bracket Sim seat slider Slider base plateOverhead monitor mount

Headset hookSimucube wheel mount Mouse Tray

A

B

F

K L

G M H

I J

N

O

P

Q

D

E

C

RTRSIMCHASS1
RACETECH SIM CHASSIS

Tools required:
Ratchet
19mm socket (or spanner)
13mm socket
10mm tube socket
10mm spanner
6mm hex (for seat bolts)

Product Info and Assembly Instructions:
www.racetech.co.nz/shop/simulator-chassis-nz
www.racetecheurope.co.uk/shop/simulator-chassis
www.racetech-usa.com/shop/simulator-chassis-usa
www.racetechseats.com.au/shop/simulator-chassis-australia

OPTIONAL ACCESSORIES

REV005

QTY PART DESCRIPTION QTY PART DESCRIPTION

1 A Front chassis rail LH 1 N Pedalbox mounting plate

1 B Front chassis rail RH 1 O Pedalbox adjuster plate

1 C Rear chassis rail LH 1 P Monitor mounting bracket

1 D Rear chassis rail RH 1 Q Steering mounting bracket

2 E Chassis end cap

2 F Rail Flitch plate 6 Adjuster feet & nuts

1 G Pod Side LH 94 M6x20 cup heads

1 H Pod Side RH 100 M6 �ange nuts

1 I Pod Rear LH 2 M8 �at washers (foot plate)

1 J Pod Rear RH 6 Cable tie clips

1 K Pod Front LH 8 M6 bolts & washers

1 L Pod Front RH 4 M8 bolts, washers & nuts

1 M Pod Internal Doubler

sales@racetech.co.nz  |  (04) 939 0552  |  www.racetech.co.nz


